Q. 3

Date: Section: 7, |

SM 2

Objective: Notes on Vertex, Axis of Symmetry of quadratics

What does quadratic mean?

Forms of Quadratic Functions:

Standard Form: i (x) =ax’ +bx + ¢, where a = (). There are no parentheses.
Example: f(x) =-3x" +2x-7

Factored Form: f (x) = a(x ~ p)( X —q), where a = 0. Written as a multiplication problem.
Example: f(x)=(x- 4)(x+5)

Vertex Form: f(x) = a(x = hf +k, where @ = 0. x only shows up once, as part of a perfect square.

Example: f(x)=2(x+7) -1

Examples: State whether each quadratic function is in standard, factored, or vertex form.

a) f(x)=2(x+3)(x-5) b) f(x)=-—(x+\4)2—5 ¢) f(x)=x"+2x+4
a=2 p=-3 ¢-§ a==| h=if =5 a=| b=2 c=¢}

T, Vere x Stenda o=l
d) f(x)=-x*+5x &) f(x)=3x(x-2) f) f(x)=2(x+1)* -3

a=e| b=6 =0 a=3p=0 g=2o, a=2 b=\ k=2

Sanda v fuctored Vere x

0 /(3)=-fossf 0 1is)e-50 ) a)-se

a{ h5 k-0 B0 o 4

Vbﬂ-ef %Mkad Shecnel o
(ov VW?‘) [Dv‘v-e«ﬁl-ey:of

feLtts red



The graph of y = x":

Vertex: CO‘ D)

Axis of Symmetry: X =0

Direction of Opening: U ‘D

y-intercept: C 0 O)
{

A) Parabola: The shape of the graph of a quadratic function.

B) Axis of Symmetry: A line that cuts a parabola in half. If you were to fold a parabola along its axis of
symmetry, the two sides would overlap. The equation of the axis of symmetry looks like x =#.

C) Vertex: The “tip” of the parabola — the point at which it changes direction.

« If the parabola opens up (a>0). the vertex is the lowest point on the graph, or the minimum
point. -

« If the parabola opens down (a <0), the vertex is the highest point on the graph, or the
maximum point.

D) y-intercept: Where the graph touches or crosses the y-axis.

Finding the vertex in each form.
1) Vertex Form of a Quadratic Function: y = a(x—h)2 +k

a is the number in front of the parentheses.
(If there isn’t a number written in front, a =1. If there’s just a negative sign in front, a = -1.)

h is the opposite of the number with x in the parentheses.
k is the number at the end.

Vertex: (h: k)



2) Standard Form: f( X)=ax’ +bx+¢ or y=ax’+bx+c

* Just like with the other forms, the graph opens up if @ is positive and opens down if a is negative.
¢ Vertex:

o The x-coordinate of the vertex 1S %é (The opposite of 4 divided by 2 times a)
a

o To find the y-coordinate, plug the x-coordinate into the original equation.

3) Factored Form: f(x) = a(x —p)(x — q) wherea =0
Factored form shows the zeros or X-intercepts of the quadratic,

Zeros of a Function: The values of 1 that make f ( x) or y equal zero. If the zeros are real, they tell
you the places where the graph crosses the x-axis, or the X-intercepts of the graph.

Other words for zeros are solutions to f (x) = 0, roots, x-intercepts.

! D+
Vertex: To find the x-value of the vertex, use X = !

q . To find the y-value of the vertex, plug the x-

value into the original equation.

Finding the axis of Symmetry, direction of opening, and y-intercept is the same in all forms.

Axis of Symmetry: Find the x-coordinate of the vertex and write the equation of the vertical line.
- -b 3 X
In standard form it is x = 5o+ Invertex form itis x = 4. In factored form its B D—;Lﬂ

Direction of Opening:
* Opens up if a is positive.
* Opens down if a is negative.

Finding the y-intercept:
1. Plugin 0 for x.
2. Simplify. Don’t forget to use order of operations.

Write the form each quadratic equation is in. Find the vertex and the direction of the opening of
the graph for each of the following quadratic equations. Find the y-intercept and axis of
symmetry.
a) y=(x—?)2+9 Form: \je('J;eK
h=_q k= Ei Vertex: ("'l‘,ci)
Axis of Symmetry: K= l
Direction of opening: | g%
y-intercept: ( o L S¥
2 e
Y=(o-1)*q
=] P o SR P BO




by ai=ge® —~d20—10
a= 3 b—’\g’
Nedex i xi-lo x 12 2z )2 -2
Zﬂ 7_(39 =

Form: S"'RV\DLG-VL
Vertex: (7—}, "'2-2.)
Axis of Symmetry: x =2

Direction of opening:

fj 3(25 -'17-('2—->"'|O %q_} - 24 =| ) y-intercept: {0, /\

= |2-24{—tD = 722
AP -\ ut)— 1o =L P

) y=—-(x+4)(x—-06)
\n::ﬁ_,q;_JL
Vevdey : Ydm = -—l(-'{'b =

¥ "'(\-t—q;Yl ) = -(sY- s)= 25

Form: "‘FG.C-‘('CD!F ec(_

Vertex: (. [1. 2—5)

Axis of Symmetry: l(f_(’_,
Direction of opening: M

y-intercept: ( 2] , 'ZJ'(')

Ynt:  _oauyd-b) = ~(HY-e) T 24

d) y=-x"+4x-10
a= "‘ b—_i
Vevdex . oy —'h_ =-t -ﬁ_:: >
2(- l)
y ~(7.)+q—(7_)-\o- Y -\—8’-\0 e

g"ﬂf\*’ ’ —';37+"\'.(z6§-\0 =-\0

&) y=—-3@x+2)?% -1

h=~% k=~—|\

Yint : -3(0+) -

= -3(y) - =-2-1="13

Form: Mﬂ (?(
Vertex:_( 2-}, ""b)

Axis of Symmetry: X = 2.
Direction of opening: M

-int 1 —
y-intercep ('O' ID)

Form: N @ V=@%
Vertex: ( ""2- ""'l\
Axis of Symmetry & -

Direction of opening: M
y-intercept: C 0: - ‘3)




ﬂy=1m&~exx~n Form: Qfgfék{

i 3 s ! Vertex: -
L—J' Xt f? 3*."[ =(0 = E Axis of Symmetry: A=G
T -2- Direction of opening: ;g‘g
’ (5 ""3Y'5 -l) —L(Z.:}( 2_-) "%L(""lﬂ -2 y-intercept: _( £ 0. S )

JAEERE s y=2(0-3Y0-7) = L(-3X-1) =L(al) = (5.5

Graph I:y
A

NS A RN
L =1 i
FHHHHH
o R Y L]
<+ f t> x
‘EJ:L4 HER
X T
e 1
i 3 I EEE

Vertex: ( | ) ':...)

7 7
Axis of Symmetry: W = | Axis of Symmetr}, X=- |

y-intercept: _CO O ) y-intercept: / ), = 2,\
L {
is the value of “a” posmve or is the value of “a” negative? L
Graph 3:
b
jl_]_]?.#ﬁ R Vertex: E g,..‘ -_3,)
BRERSNSSISS
MEEEE "_ _; 1 Axis of Symmetry: ¥X.Z= 2
ene s =
LIﬂ_r_,*? “\ ,ﬂ ~;——’ y-intercept: ( © | | 2—)
Ty 1]

JsT LALE] is the value of “a” negative?
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Date: Section: 7. 2
SM 2

Objective: Notes graphing quadratics using the vertex

Using what we learned yesterday, we are going to graph quadratic equations.
Find the vertex of the parabola. Then use the pattern to find 4 more points, 2 on each side of the vertex. Do not

forget that if a is not 1, the pattern changes.

Examples: Fill in the requested information for each function. Then draw the graph.

a) f(x) =x" +4x+3 Form of the equation: S“"&LV"CLQ- WL a= ! b= ﬂ:

Vertex: Y =l = - - -4 = -2
200 2(0 2

Yt (Y (-3 s B3 -

3 -\)

Axis of Symmetry:
W= —2-

Direction of Opening:

s the vertex a maximum or minimum?

Maximum or minimum value:

o

y-intercept: ( ( X y
g (P38 O EHE
Domain: ('_ml DO) Vertex :%_ 1
Range: ol %
(-1, 2°)
Vertical Stretch:

e« changes how wide or narrow the graph 1s.
o If |a|>1, the graph is narrower than the graph of y = x’.

o If \al < 1. the graph is wider than the graph of y = 22,

e Figure out the exact shape of the graph by making an x,y table. Always use the vertex as one point.
Then choose two x-values on each side of the vertex to plug into the equation to find the
corresponding y-coordinates.

* A shortcut is to use counting patterns to graph the parabola. Start at the vertex, then count:

—1, Ta
2, 14a If a is negative, count down instead of up.
<3, 19a, etc.

—— R



Form of the equation: L]QG—_QJ

a

'L’z h=_| &

Axis of Symmetry: Yo |

Direction of Opening: \0

[s the vertex a maximum or minimum? M;y\ ‘ MU M

Maximum or minimum value: L‘.

y-intercept: A

(0-1)*—y = (-4
7L: ‘1-5.2\) "‘ii 2 ~2.5 (or

(——-bolbca)

3.9)

Vertex

Domain:

Range:

C- l-hDQ)

Form of the equation: j"u'/\d o ”\

f(x)=—3x2 -6x+2

-

Vertex: X3 -5 =l -
24 2(-3) —(¢

B0l +3 -:gﬁa*?-

N

Axis of Symmetry: X= - ‘

Direction of Opening: ot oL ™\

Prauximom

[s the vertex a maximum or minimum?

Maximum or minimum value: S

y-intercept:

‘U e =2 (02)

Domain:

Vertex

(""‘Ql"ﬁ))

Range: (_. 09, 5—]




d)

f(x):—(x+ 2)2 =] Form of the equation: VerdeX a=— | he =2 k= ""!

Vertex: T aj

e Ry

Axis of Symmetry: y\ - -2

Direction of Opening: d awd N

Is the vertex a maximum or minimum? «
wAC-% | (WU TN

Maximum or minimum value: \
-—

y-intercept: [ x

'2 - Ll - '.'V

"'(O-\-—v_)""_-\: -2 2 ~4-\" S _:1)”:7
Domain (O ’C’) Vertex = = |
(—>= o= -l -2

f(x)=2(x—4)2—3 Form of the equation: yeg}gg e | h= ‘+ k=% 3 |

Vertex:
(4, -3)

Axis of Symmetry: W = u{—

Direction of Opening: () P

Is the vertex a maximum or mipimum‘?

WAL AVALY

Maximum or minimum value:

y-intercept: o
uo-—‘_‘,)z-__? = 7—(_‘_‘_) _.3 - 1—(\’0)‘3
Domain: " 37—'—'3 - zq C‘af 2‘:‘) Vertex
(= b°>

Range: E— 3[ oo)




f)

e,

f(x) = —%xz ~Xx+2 Form of the equation: S“'&V\dﬁt rd as= "-L= b=_= |

Verer %! L= Loy flab

Axis of Symmetry: X =-|

Direction of Opening: dowon

Is the vertex a maximum or minimum? : o ; T ~a-- R
WACH L MO A \

Maximum or minimum value:

2.5

y-intercept:

x |y

“3eP-g+2 = 2 (o,n) 53
Domain: Vertex [= [ 12.5]
(""b-o‘ t’“) lO 2

L1 I=f,

Range: ("boi 15‘3



SM 2 Date: Section: ], 3

Objective: Notes on graphing quadratics using zeros

Zeros of a Function: The values of x that make f(x) or y equal zero. If the zeros are real, they
tell you the places where the graph crosses the x-axis, or the x-intercepts of the graph.

Other words for zeros: solutions to f (x) = 0, roots, x-intercepfts.

a>0 a<(

vertex, maximum point

.
< \A/‘\[}
/

vertex, minimum point v

Finding zeros (x-intercepts):
1. Changeyor f(x)to0.

2. Solve for x.
o If the equation is in factored form, solving for x is easy — just think “What would
+ have to be to make each set of parentheses equal to 077
e If the equation is in standard form, solve by factoring or by using quadratic
formula e o
e If the equation is in vertex form, get the perfect square by itself, take the square
root of both sides (don't forget the +), then solve for x.
* If your answers are imaginary (negative under the square root), the graph doesn’t
have x-intercepts.




— For each function, do the following:

1) State whether the function is in standard,
2) State whether the parabola opens up or do

3) Find the zeros (x-values),
4) State the x-intercepts as ordered pairs.

A fx)==(x+4)(x-1)
1) Form: Hzactored
2) Direction of opening: douo N

3) Zeros: ""'+J (

4) x-intercepts: _L’Ll tO_ ) ( !:O)

Show work here:
X +4z O X~ O
7& -4 7}1; +|
(

W= -k XK=

C. y=-3(x+5) +27

1) Form: \J@ V=@ Y

2) Direction of opening: ¢4 9 e ()

3) Zeros: _~2, —%

4) wintercepts: (=2, 0)' (8,0

Show work here:

O =-3(r+5)+2
A k )fﬁ.l'

vertex, or factored form,

B. y=4x"-2x
1) Form:_S'('b.V\o{ﬂ.VZ(

2) Direction of opening: Ue
3) Zeros: © , lz 2.
- and
4) x-intercepts: ( ©,0) ; ( ['2.‘ O)

Show work here:
O= L{—x"-l?‘
0= Ln(Lx~- )
X=0, Y2

D. f(x)=5x*-20
1) Form: S“'&V\AQ\(Z&/V'@-(""Q\L

2) Direction of opening: () e
3) Zeros: = li g

4) x-intercepts: f_ -3 'O\’ , (__ 2 O)

Show work here:

+f; Sw 2';2 o= ‘57&.1"- —

T = S(x*—\)
%2'% = S(wA2Y % - l—)
=wx I
= e
fa=x



E. y=x"-16x+48 F.

1) Form: _Ssteuedhan?)

2) Direction of opening: Agg_

T o

4) xeintercepts: _( 12,0 ) f Y, 0)

Show work here:

0= x*lox +48
-2 -4
o= (WD) -+

=1, o

3) Zeros:

G. f(x)=—(x+3)2+50
1) Form: N @V X<

2) Direction of opening: Aawn
3) Zeros: -3 SJ—’Z..
4) x-intercepts: (O 3*‘5@ ( O 3'5-‘—-)

Show work here:

__go—-(»c-r-%)" 5?

filx) =2(x-2)" +8

1) Form: \J @V A€

2) Direction of opening: U
e A 8

o nes

3) Zeros:

4) x-intercepts:

Show work here:

=l 2" -t-/g

x. = ,L‘l’; X = 2""7.&
H. y=—2x +4x-10
1) Form: Srandavd

2) Direction of opening: _dp_t&f\
| £

3) Zeros:

4) x-intercepts: MO N €

Show work here:

0= ~2x* - =t

—g0 = _\(%*_,351 ;_(:'}(f..."}.x "\"'CJ>
N p il A, Lol
J5e e’ s - [T a) )
*'sJ'E_ o N
?2 ""”(:t\h(p-y Tz -k -4 |
-31"SJ"2=>< o = )
o8 = |E20



Date: Section: 7.4

SM 2
Objective: Find the key features of graphs from their equations. Draw graphs from
G their key features. Match graphs to their equations.

. | v 'i".- s } .'_"lcr;
For each function, fill out,the requested information. Put a star by any information that can be seen just
*from looking at the equation. Graph the equation using its key features. Graph at least,5 poi.n}s, :

A f(x)=gx-4 B. y=<2(s+3)’ -2
1) Form: Stawnalare] - 1) Form: N @ (@ X+
na=1', b 223 c -y DazrZ, hi-3 K _-2
3) Direction of opening: u# 3) Direction of dﬁeqjﬁé: _Q‘iblj_ﬁ
4) Zeros: 'LF;',-"\ 4) Zeros: ""5‘* L.
5) x-intercepts: (W, D) (=, ©) 5) x-inte}cepts: novie,
6) y-intercept: f O: "'_'_'( ) ) 6) y-intercept: ( 0; - LO)
7 Botisof syimeiry:) '}(.:'— (& 7) Axis of sjmmefry: 'X"';_ ":2 Fhare
8) Vertex: ([.'S,, -C,-.'.?-S‘) ‘ 8) Vertex: (-—3‘: '37—9" o
Show work here: ks Show work here: 2
Zevos’ o= kA 3x-Y4 2ews " +8 = ~2(%+3) ;Z
“\ r 2

0= (% —YYx~+() &

= o -\ '. 1 e
i IR RA3
y % =} y it Xt
A “‘\ -a s 3
\ x 176 . =
4 5
\ v \\ /A o = 9 f/
—10 5T 1’})‘ //\\ e L P
S \ /\

=)

Veva ey e, =
Xivlg ; A= 3 2 l/

20 2(1) =

2 15%—301.8) =Y #—6.1S z ., .
f Ysnt: y -2lox3)-2 =-20



. f(x)z—i(x+2)(x—6) D; a8
1) Form: "ﬁlc-}-o(“ec{ 1)Form:_s;{ggdg_w[
I i
Da=TN P _c;_=io_ pa=l =0, 6 € -9
3) Direction of opening: _d_G_L!J\ 3) Direction of openi_ng: U ‘Q

4) Zeros: -7"". b v, 4) Zeros: 3 v B
'5) x-intercepts: "‘L‘iM,_O ) 5) x-intercepts: M@)
6) y-intercept: _ ( 0; 3) 6) y-intercept:’ £ O:‘ ”q,)
7) Axis of symmetry: _ & = 2— 7) Axis of symmetry: ~ X =20
8) Vertex: ( 7—:‘ ‘-f) 8) Vertex: C O."GI')
Show work here: © * Show work here:' - '
. - ._.._L it 3 7.01/0@.‘. O?— 2:-
=xC1yE3 NI %
+ 2=
y 52 X
Mo T i " ;
x f(x) T E
~ = W g - 5 £
< bl N b x \
= l-'.“r [; . 1 ; // 10 5 ,, E 0 / \\
BEEE T4 ‘ 7
3 3
v ” i
Verdew: prq z-2+b -4 23 Verdex: xa-lp 2 2- = o
2 - ST 200 20)

Y- *'_' (1.-1-2.X2.-tp s =L my..l( = Y Yy 0’:-¢-'(-.:-—¢|"‘~'
T -



E. f(x)=3x2—6x—9 F. y=—x(x+4)

1) Form: ﬁmv?t 1) Form: ﬁc—fofed
va= 2. b -=p ¢ -=9 ne=-t -0 g - -

3) Direction of opening: uﬁ 3) Dlrectlon of openmg d ;g(\
4) Zeros: é s l ' 4) Zeros: 1 \f ‘
, ;
5) x-intercepts: 1 °-> (v \ ("" 0) ! 5—).7&-int,ercppt§: / Oi O) f "'(;(r O)
6) y-intercept: ( O "Cm 6) y-intercept: f: OE O)
7) Axis of symmetry: )K: l 7) Axis of symmetry: KRS~ 2
8) Vertex: C ". 2 l 3"3 8) Vertex: f ey 2"', "0
Show work here: Rt Show work here:y «
2erms. O 3x iy ex—9 YsSiat: ..-o(a.q..q) DC‘{) o
S Apeanss _ veidac PRy e Y =-2
= 3(&-3Y>¢+-|) S~ Yy --2.(-.?_-(—(;) 2?2) =Y
y R&3 - : y
CEuum [] . ; AT
-+ \x_| A1) » {1 v/
- ' > x \ J,
i 5 | B 1 )\/ /
! “r'—L \ - 3 ? | %\
Sap -
B 199 /1 ,/ \\ IRNCE.Z ’ A
4

T



EXAMPLE: Given the graph, write the equation.
A. Write the CC]L’laﬁDﬂ’.Of the glraph in factored form.
Direction of opening: _@\,&LD

Find the zeros: __"— ( 4 | 3

a="'l p'= "" g=_"

Equation in factored form: 5 - = ( )("‘"Q( X"'B)

B. Write the equation of the graph in vertex form.

Direction of opening:._‘_U_&__ S CerE
8 \‘fértex_( z‘! -:—2'-> ! " 1 :"—. g " I_
A pumd e i 2

ar—=_

,
Equation in vertex form: i/)‘l = J—( X"3> -

i
= @

C. Write the equation of the graph in standard form.

Direction of opening: U qe

Find the zeros: '—S, = '

a= l P = ""9 q="'"!

Equation in factored form: _M} = | ( X 'f'g )(x o (>

Equation in standard form: _ (4 —

(4V] *..__ W

.
...--""M’

o,

—
| el

X
6§
y P
X E
\ i
\ 7
L. [ ] .
- T+ 2> X
\ T/

. [#3]




D. Write the equation of the graph in factored form.

Direction of opening: QP
Find the zeros: "'( ; 2
[
a=_T2 p=_"Y g=__ 2~

Equation in factored form: g - 'Lz ‘ &,'\"q)‘ X"‘:;

E. Write the equation of the graph in vertex form.

Direction of opening: _iQLy_D
‘Yeriex; ‘ D’ (Q )

a=.'"__5 h= O k= (0

yr
Equation in vertex form: _(J = "'3/ X"'O) o (0
~ or \
= -3% % (,

F. Write the equation of the graph in standard form.

Direction of opening: m

Find the zeros: - 2—

a= """ p= — 2 q= -2

Equation in factored form: %'-'-'— " ( W *Q—X)C + 2>

Equation in standard form: Jj - Xz—q K"L{
“(K"'th;
—(RPe2x e 1)
~ (x*+Yy+y)
~ %= Yx -y

~

L

H""'hn.*

[¢%]

"

[o4]

-

[+

w

L

[4%]

-
3...---



-~

]
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SM 2 Date: Section: 77,5

. Objective: Notes: Quadratic Story Problems

Steps for solving stories:

1. READ the story, write down the information needed and define a variable
Write an equation

Solve for variable

Check

e

Tips for solving story problems:
* Identify what you know.
* What are you trying to find out?

Draw a picture or diagram to help you visualize the situation.
*  Carefully define your variables.

* Translate the words into symbols.

* Use appropriate units.

* Make sure your answer makes sense.

* Sum:+ Difference: — Product: x Quotient: +

*  Words that tell you to look for the vertex: maximum, minimum, highest, lowest, biggest, littlest, largest, smallest,
maximize, minimize.

AAMPLES:

1. A ski club sells calendars to raise money. The profit, 2, in dollars, from selling x calendars is given by the
equation P(x) =120x~x",

Define your variables: x = -# U"F c.aJ-e W-d{.ﬂ.rs Plx) = v= Pv‘r_\‘F\ ‘l‘
Sold
Sketch a graph of the situation. Label the axes clearly.

a:z -|
b- (20
5 Verdtex : X -k = ~(20_ = “20 _ a
B0t (0, 2000) ** ¢y 3
$ y: (w(cpo) - s 200 — 3600
S— =300
: . 2
' 22vDS " O=(2oX=X
g X (120~ x)
# of calen~ndalds X=0, |20

_ How much profit will the club make from selling 50 calendars?
P = |20(c0) - o>
0000 — 2500 = $2500



How many calendars must be sold for the club to make $27007

200 = | ao)(y-30)= O
- 120k +% > ;Zgﬁ’i_bé} 27100 P )

- =Q0, 30

S —qQo~ -3V K=
KE=120% L7100 = O ao

How many calendars must be sold to maximize profit? 30 C&[ﬂ M““R ‘7 ‘(—

r\aLaJ'S
Vemer: (60,3600) 0o Caolonelars

What is the maximum profit?

{200

2. A rock is thrown upward from the ground by the wheel of a truck. Its height i@ove the ground after ¢
seconds is given by the function / (r) =-16¢% + 20z '

Define your variables: x =t = "'::\ ML, h)=y= ‘ﬁ@ llgﬁ'\-*_

Draw a sketch of the graph representing the path of the height of the rock. Label your axes.

Jedex: X'-lo = —20 =720 622

t g 2A 2(-( - - B
3 732
6.2."7__. ( (0 2 5/ 6 - 'L%)
_.‘_Z . I —\ta(.u‘?.s)l-«-z.a(.[o‘z.‘s)
g) ~L2S =+ 12.% 5625
S
.t;z.z’ 1.2S i ’Z-ﬁ_ﬂ-’_s._ D= -letrar20t
How long does it take the rock to reach its maximum height? 3 l‘l"t<"{"t —g)

4A=0 =S/ = .25
025 Secand S EER

What is the maximum height of the rock?

b.-25 feet

How long will it take for the rock to return to the ground? —

.25 Second s



3. A penny is thrown upward from the observation deck on the 102™ floor of the Empire State Building. It’s
height, 7, in feet, after 7 seconds is given by the equation A(r) = -16/> + 92 +1250

—

Define your variables: x = t = __'J('LV}'&-Q_. i Bl =p= AhQ.‘(qk*'
J

Draw a sketch of the graph representing the path of the height of the penny. Label your axes.
%o
1%y
299,
)
S
3

S

Hwe 211
What is the height of the observation deck? (In other words, how high is the penny at t =07?)

= el T+ 1350 = (350 Leet

How high is the penny after 2 seconds?

W= - Ua(z)n-«— q2(2) +|280= -\o(%) + B4 H25Q
3 —4 4| g -+ 250 :Lg-ro&-&-

The Empire State Building has a lightning rod with a tip that is 1454 ft above the ground. Will enmy
reach the top of the lightning rod? (Hint: Find the maximum height and see if it’s larger or smaller than

1454 ft.) Az-\b \o=qa
Vedex : r - = -Q2. _ =92 _
—— 2o ZT-_LG)' 33~ .85 ('2.3"!51 H,gz,?.%)
Y - 1e@218) "+ 26879 +1S 0 Noy +ae pars
=225 * 26e4.S+ 260 = |382.28 -ngeh-_t:f 9 F~\no
When will the penny be 1110 feet above the ground? \‘3 “"3 V_M ‘
_l}é’@ = mlek?xqt+(50 %= -9u# Q2 -4(-(6)( 140)
¢ =144 O =t ————
0% - ot q2k + (4o = 7222 Jeked 3900 = -9 % T
Sf_;": -3 =33

= (HdW long will it take for the penny to hit the ground? = =G 2% |32 '-'-‘;lfrs‘,"j SECJN‘\CLS‘ \
- 2 -3 ; .
0= - let"+Qqzt+ (250

g""“" K= =922 (g2 -u(-16)125D) = -q2F JSuey + 80000
=q2 —
C= (250 i) iyt
=-a2t [FTwel = -q14 297.43 = k2
32 —22 [ 12,17 secarnds]

—
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SM 2 Objective: Notes for Writing Quadratic Functions using the vertex or roots

Writing Quadratic Functions Given Key Features
If you know the vertex and another point on the parabola, or the roots and another point on the parabola, you
can figure out the equation of the parabola.
Writing a Quadratic Equation when You Know the Vertex and Another Point

1. Use Vertex Form: y = a(x — h)* +k

/
2. Substitute in the vertex for h and k.
3. Substitute in the other point for x and y (or f(x))

4. Simplify and solve for a. (Don’t forget to use order of operations.)

5. Write your final answer by substituting in a, h and k into the vertex form.

Examples: Write an equation for each parabola described below.
a) Vertex: (~1,—2), passes through (0,-1) b) Vertex: (1,-3), passes through (3,5)

y= q(\.L-hBQ'-‘rk w a(*‘—vﬁ:—‘bk
5:0\(»@«—1)"2— -3 ;atw-\) :j
-lza(ox*2 : q((f_)lb
o h 3 = -

bF Ay ‘}Z (3‘ l(sa-k-\)z"?-l Eg 7’%
&

o &ﬂf_‘ﬂ

_-t

al ax= |

—

\

* \ Y= 2() )= 2

L{-
2= A

c)

- 1: i Lj;q(\t-\n)l—l—\(
4= a(x-3) + |
-5z Q-3+ |

-g:q(.%l
“S=ar ol

-_waig’?é . —
=

Y= “E(x-D |




—

Writing a Quadratic Equation-when You Know the Roots and Another Point
1. Use factored form: y=a(x—p)(x—q)
2. Substitute in the roots for p and q.

3. Substitute in the other point for x and y (or f(x)).

b

Simplify and solve for a. (Don’t forget to use order of operations.)

n

. Write your final answer by substituting in a, p, and q back into the factored form.

Examples: Write an equation for each parabola described below.
a) Roots: (-1,0) and (3,0), passes through (2,9)
Y=alx—P)x-q)
Y= alx+\)(x- )
A= a(2+(Y2-3) S
1=alay-y  Ty= -xxited) )

gl Séi:" S

b) Zeros: 4 & 8, passes through (0,16)
4= el ~plx)
= alx—u)x-8)

=3 -
353'-0 :r,. Ca q
] s Ui ”
““’1\\ 5 [“‘0} \ f_‘f_ 7_(% ‘+)(vc. ‘5)
:_:1 + b 2: >
-54
o0 Yralx—pYx— )
154 j: a (YUHLYYL"!)
v _.Lozaco«—z,)(o.-l) |

—0= a(2Y-1)
-0 = a(-2)
-3
oo

\ g—:s( >C+‘2-)(x — )
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SM 2 Objective: Notes on Quadratic Inequalities

—

Review Example: Solve 0 = ¥P+2x-3

Notice that each of these inequalities below involves the value of x* + 2x -3, which is represented by the y-
coordinate of the graph. In each case, we are trying to figure out what x-values (x-coordinates) make the
inequality true. When trying to find where x + 2x —3 >0, we are trying to figure out what x-coordinates have a
y-coordinate that is bigger than zero—in other words. where is the graph above the x-axis?

flx)=x'+2x-3

a) x>+2x-3>0 b) x*+2x-3=20

(=3, ~3) V(=) (v, -5V >

8) ¥ +2x-3<0 d) x*+2x-3<0

v




Solving a Quadratic Inequality Using the Graph:

— 1.

Write the inequality in standard form. Replace the inequality sign with an equal sign and solve the
equation ax~ + bx + ¢ = 0 by factoring, completing the square or using the quadratic formula. This
gives you the X-intercepts of the graph of ¥ = ax? + bx BE

Graph ¥ = ax? + bx + ¢. The graph does not have to be very detailed. A rough sketch of a parabola
opening in the correct direction with the correct x-intercepts is all you need.

The solutions of ax® + bx + ¢ = 0 are the X-values for which the graph is above the x-axis.

The solutions of ax® 4 bx + ¢ = 0 are the x-values for which the graph is on or above the x-axis.

The solutions of ax® + bx + ¢ < 0 are the x-values for which the graph is below the x-axis.

The solutions of ax? + bx + ¢ < 0 are the x-values for which the graph is on or below the x-axis.

If the inequality involves < or =, the x-intercepts are included in the solution set (use brackets).

If the inequality involves < or >, the x-intercepts are not included in the solution set (use parentheses).

Examples: Solve each inequality and graph the solution set on a number line. Write answer in interval
notation.

a) (x=3)(x+1)=0 b) (x-7)(x-5)<0

=3, - b

4‘1:::‘:1::':::{K'1\::—{)x

5 RIS
(-3, = 1] U [3,069) (5,7)
c) x’+5x>0 d) x*-4x-12<0
-
Xy +s) >
X-x s) >0 (x-eYpas) £0
=0,*% X=6, ~2




e) x’-4<0
(% *2DYyx-2) £O
xX=-2, -

S 7 —>» X
-5 0 S

0 5
(-30,2) V(2 5=)

i) x—4x+4<0

(vﬁﬂXx—?; Lo

> %

\no sSoluhown

f) x> +10x=-9
X*tlox+9q 2 O

Q. |
(x+aYx+1) 20
=, =
gt X
-10 0 5 10




Vertex Form
y= c:.'(x—h)2 +k
y=(x+ 5)2 -4

The vertex is easy to find:
(opposite of # with x, # at the end)
(k)

X = x-value of the vertex
x'=h

Opens down if the # in front of the
parentheses is negative. Otherwise,
“ens up.

Plug in zero for x, solve for y.

Plug in zero for y.

- Get perfect square by itself.

3. Take the / of both sides.
(Don’t forget the +!)

4. Solve for x.

RS —

Standard Form
y=ax’+bx+c
y=x*+10x-21

Once you know the x-value, plug
that # into the original equation to
find the y-value.

X = x-value of the vertex
b

X=——

2a

Opens down if the # in front of 2
is negative. Otherwise, opens up.

Plug in zero for x, solve for V.

I. Plug in zero for y.
2. Solve for x by factoring or by
using the quadratic formula.

Factored Form
y=a(x-p)(x-q)
y= (x+7)(x~3)

Tae Fwne the w-value
OF e Ver4+ex:
pte

- ° To find
.the y-value of the vertex, plug the
x-value into the, original equation.

X = x-value of the vertex

Opens down if the # in front of the
parentheses is negative. Otherwise,
opens up.

Plug in zero for x, solve for V.

1. Plug in zero for y.

2. Finding the x-values is easy —
Think “What would x have to
be to make each set of
parentheses equal 07

The zeros are always the opposites
of the numbers with x in the
parentheses.

Domain: (-co, )

Range: Look at the graph — (lowest y,

T,

highest y) — use a bracket on the maximum or minimum value!



12"_ 7:?Hints

’7 Hints for Quadratic Stories

Hints for Writing a Quadratic
Equation from points

Hints for solving a Quadratic
Inequality

Vertex is the maximum or minimum
point.

Factored form
y = a(e—p)x-19)

Substitute in the values of
p,q,x,and y. Solve for a.

Then substitute p, g, and a into
equation.

1. Find zeros.

Graph is not required but if you draw
it, it will help.

Vertex Form
y=alx—-h?*+k

Substitute in the values of
h, k,x,and y. Solve for a.

Don’t forget to follow order of
operations when solving.

Then substitute h, k, and a into
equation.

2. Graph the zeros and sketch the
parabola.

< and > are open circles and
parentheses.

< and > are closed circles and
brackets.

The x-coordinate of the vertex is
b i
o e Then substitute the

x-coordinate into the equation to
find y.

3. > and > are the positive intervals

or above the x-axis.

< and < are the negative intervals

or below the x-axis.

To find the zeros, equation must be in
standard form (ax? + bx + ¢ = 0).

4. Write answer in interval notation.

To find the zeros, factor or do
quadratic formula.




